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PARTIAL FRACTIONS

3z + 5 , . .
1. Resolve into partial fractions.

(z +2)(3z — 1)

° Watch Video Solution

272 —1
2.Resolve T+ o into partial fractions.
z2 — 3z — 10

| o WMiakll . \tdaa CAliidkiam



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_E3uDiguA0eX0
https://dl.doubtnut.com/l/_N6CSjEi8d3ts
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222 — bz + 7 : : :
3. Resolve into partial fractions.

(z +1)*(z + 3)(2z + 1)

o Watch Video Solution

2 — 5
4.Resolve ’ into partial fractions.
(z + 2)(z2 — z + 5)

o Watch Video Solution

2¢ + 1 ) ) )
5. Resolve into partial fractions.

(z 4 3)(z% + 1)*

o Watch Video Solution



https://dl.doubtnut.com/l/_N6CSjEi8d3ts
https://dl.doubtnut.com/l/_EbF9RG89cmnZ
https://dl.doubtnut.com/l/_9YKkSeao5QmC
https://dl.doubtnut.com/l/_hf3BxjiXV5oq

3z2 — 3z — 11

6. Resolve into partial fractions.

(z + 3)(3z + 4)°

A 1 N 2 1
z+3 3x+4 (3:13—|—4)2

8 12 1
T+3  3z+4 (3 +4)°

1 2 1

C. + -
z+3 3r+4 2(3:1;—|—4)2

D. None of these

Answer:

° Watch Video Solution

P r+ R
7. If ’” — @

Sx +T

+
(z—1)(z2+1)°> -1 22+1
thenP+Q —-R—-S+T =

A5
4

- =,
(z* +1)


https://dl.doubtnut.com/l/_Um08bAqrIlQ0
https://dl.doubtnut.com/l/_bn9fuw04wMwL
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Answer:

o Watch Video Solution

9z — 13 A B

= , th A+ B i
x2 —2x — 15 a:—|—3+:1:—5 en * >

A9

B.13

C.12

D.8


https://dl.doubtnut.com/l/_bn9fuw04wMwL
https://dl.doubtnut.com/l/_ff6hOqtphRgo

Answer:

° Watch Video Solution

9.Resolve 5 into partial fractions.
(z — 2)(x2 + 3)
1| 2 2% +4 122z |
A — —~ +
9z—-2 22+3 (224 3)°
o L [ 9 2% +4 12— 2z |
49|z -2 2243 (332—|—3)2
1 [ 2 2% +4 12— 2z |
C. — + -
49 |z — 2 2+ 3 (x2+3)2
1| 2 2% +4 21— 14z |
D. — - +
49 |z — 2 x2 4+ 3 (:1:2—|—3)2
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ff6hOqtphRgo
https://dl.doubtnut.com/l/_k032NG3zKhpU

10. If
1 A B C

(1—2)(1—22)(1-32) (-2  (1—20)  (1-32)
,then A + B+ C =

A.0

B.1

D.2

Answer:

o Watch Video Solution

Very Short Answer


https://dl.doubtnut.com/l/_CJxE5jxNvgRQ

1. Imporper fraction is a fraction in which the degree of the

numerator is _ than or equal to the degree of

denominator.

o Watch Video Solution

. . Ax + B
2. The partial fraction of — ) has______ terms.
x

o Watch Video Solution

3. A proper fraction is one in which the degree of numerator is

than the degree of denominator.

o Watch Video Solution



https://dl.doubtnut.com/l/_dVhibQB7hlBW
https://dl.doubtnut.com/l/_p3otEpbAj6Sm
https://dl.doubtnut.com/l/_0SKxms4FIdgT
https://dl.doubtnut.com/l/_5uoWrLDw7mS6

4. A proper fraction may be written as the sum of

° Watch Video Solution

5. The number of terms of the partial fraction of

z? :
is

(z—1)(2z —3)(z —4) —

o Watch Video Solution

. 2@ +1) 1 f(a)
6. The partial fraction of is — . Then
z3 — 1 r—1 gz

the degree of f(z) is

o Watch Video Solution



https://dl.doubtnut.com/l/_5uoWrLDw7mS6
https://dl.doubtnut.com/l/_fn2POEFgXeSV
https://dl.doubtnut.com/l/_ujaFogZke2Tn

2 —2x—9 2z — 3

7.1f — ,then A is
(2 + 2+ 6)(z+ 1) a:2—|—:c—|—6+a:—|—1 !
o Watch Video Solution
244
8 If the partial fractions of 333_—!—3 is
(z = 1)
3 A 7
+ >+ 5> then A=
z—-1 " (z-1?% (z-1)
o Watch Video Solution
f(z) 1 . . : 3z
o.If — is the partial fraction of ,
22—xz+1 f(x) z3 4+ 1

then f(x) is

o Watch Video Solution



https://dl.doubtnut.com/l/_jITxZxpJSOcD
https://dl.doubtnut.com/l/_rxHLTbbeXuC8
https://dl.doubtnut.com/l/_Mqkb6XAIDQ5E
https://dl.doubtnut.com/l/_DCTU6MrFIyPn

ax? + bx + c f(z) g(z) h(z)
10. If — )
(z+1)(z2—-3z—-4) zz+1 xz+4 -1
then the degree of f(z),g(x) and h(x)is
o Watch Video Solution
1. If
222 + 3x + 4 A 2 5 6
1 + 2 3 4
(z +2) (+2)  @+2? (z+2° (z+2)
,thenA =
o Watch Video Solution
x? a? B
12. |If =1 ,
Z-a@-b  (a-bd@-a  (@-b

then B is _

o Watch Video Solution



https://dl.doubtnut.com/l/_DCTU6MrFIyPn
https://dl.doubtnut.com/l/_Yjo4V7cK1MFs
https://dl.doubtnut.com/l/_0MSAFcG21t6b

4
13. If z = f(x) + A + B , then the
(z+1)(z + 2) r+1 z+4+2

degree of the polynomial f(z) is

o Watch Video Solution

Short Answer

1
1. Resolve into partial fractions : .
22 _ g2
o Watch Video Solution
. . ) 2z + 5
2.Resolve into partial fractions : .
z? 4+ 3x + 2

o Watch Video Solution



https://dl.doubtnut.com/l/_0MSAFcG21t6b
https://dl.doubtnut.com/l/_8VAsYyQQUTjS
https://dl.doubtnut.com/l/_86lpkTBB71ZP
https://dl.doubtnut.com/l/_bYBkwhE8A1AO

. . . 3z + 4
3. Resolve into partial fractions : +

2+ —12°
o Watch Video Solution
972
4. Resolve into partial fractions : r o :_ 8.
(z —2)
o Watch Video Solution
r+1

5. Resolve into partial fractions : .
(z + 2)(z2 + 4)

o Watch Video Solution

6. Find the value of A, B and Cif

2z — z — 10 _ A N B n C
(z — 2)3 (z—-2) (z- 2)2 (z — 2)3.



https://dl.doubtnut.com/l/_kc4ORYac9yVS
https://dl.doubtnut.com/l/_ZoLhIEVIUVu0
https://dl.doubtnut.com/l/_Yd2MpSxqr9a6
https://dl.doubtnut.com/l/_0PPgqKwsytaM

\ ° Watch Video Solution

5
7.1f Tt = 4 + B > then find the values of

(z — 1)2 (z —1) (z —1)
A and B.

o Watch Video Solution

b
8. Find the partial fractions of am—+2, where a and b are
(z - 1)
constants.
o Watch Video Solution
222 — 3z + 3

9. Resolve into partial fractions : .
x3 — 2z +

o Watch Video Solution



https://dl.doubtnut.com/l/_0PPgqKwsytaM
https://dl.doubtnut.com/l/_oTZS44JXmx7U
https://dl.doubtnut.com/l/_HiRskNHk7ueU
https://dl.doubtnut.com/l/_4bWWy8b4g7CC

24+ 5x+6
3 — Tz — 6

10. Resolve into partial fractions :

o Watch Video Solution

11. Resolve into partial fractions : .
(z + 1)(z +2)

° Watch Video Solution

r+1
x3 —1°

12. Resolve into partial fractions :

o Watch Video Solution

222 + 4
4 + 522 +4°

13. Resolve into partial fractions :

| &


https://dl.doubtnut.com/l/_4bWWy8b4g7CC
https://dl.doubtnut.com/l/_7OUYat7t7u5B
https://dl.doubtnut.com/l/_MjNSTITw67wo
https://dl.doubtnut.com/l/_nr4a6qjDfwNP
https://dl.doubtnut.com/l/_ueUIRpnnTuJ9

[ & Watch Video Solution

: . , 2z + 3
14. Find the partial fractions of .
zt + 22 +1
o Watch Video Solution
: : : 1
15. Resolve into partial fractions : .
zt +
o Watch Video Solution
3z2 +4x + 5

1. Resolve into partial fractions :
z3 + 922 + 26z + 24

o Watch Video Solution



https://dl.doubtnut.com/l/_ueUIRpnnTuJ9
https://dl.doubtnut.com/l/_PjtR5BgwIUo4
https://dl.doubtnut.com/l/_xCf6JK64u5Px
https://dl.doubtnut.com/l/_gP7Wrm2hgcg4

z2r — 1

rt 4+ 22 +1

2.Resolve into partial fractions :

o Watch Video Solution

3x +4
z3 — 22 — 4

3. Resolve into partial fractions :

° Watch Video Solution

2
. : . z°—3
4. Resolve into partial fractions :

3 — 222 —x + 2

° Watch Video Solution

5. Resolve into partial fractions :

o Watch Video Solution



https://dl.doubtnut.com/l/_bVZ9IjeLVZhO
https://dl.doubtnut.com/l/_zcy8h5pG4WDD
https://dl.doubtnut.com/l/_ZjNuXGwqZ5EJ
https://dl.doubtnut.com/l/_sGA1lbdjTqxw

1. Resolve into partical fractions.
w J—
1 1
A. —
3(z—3) 3(z+3)
8 1 3
"2(z—-3)  2(z+3)
c 1 1
"6(z —3) 6(z +3)
1 1
D.

6(z —3)  6(z+3)

Answer:

o Watch Video Solution

2z +3 . : .
2.Resolve into partical fractions.
z2 — 6x + 5



https://dl.doubtnut.com/l/_sGA1lbdjTqxw
https://dl.doubtnut.com/l/_RY498xnuuOYs
https://dl.doubtnut.com/l/_xRodhULgHBVq

Al 13 5
"4\z -5 =x-1

) 13
B. —
T —9 4(z — 1)
13 4
C. —
5(x —1) 5(z —5)
) 4
D. —

Answer:

o Watch Video Solution

2+ x+1 . _ ,
3.Resolve ——————— into partical fractions.

(z —1)°



https://dl.doubtnut.com/l/_xRodhULgHBVq
https://dl.doubtnut.com/l/_hM9E9gaHMVoy

Answer:

o Watch Video Solution

3z +2 | : :
4.Resolve into partical fractions.
x? + 5z + 6
7 4
A +
(z+2) (z+3)
4 8
B. +
(z+3) (x+2)
4 7
C. —
(zx+3) (x+2)
7 4
D. —
(z+3) (x+2)
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_hM9E9gaHMVoy
https://dl.doubtnut.com/l/_tRsO1TeAqviI

5. Resolve into partical fractions.
2 + x + 42

Answer:

o Watch Video Solution

2 +4z+6 ) )
6. Resolve into partical fractions.
(22 — 1)(z + 3)

11 3 3
A, - +
8(z—1) 2l(z—1) 8z + 3)

N | SR N 3
8(x—1) 4z —-1) 8(z+3)



https://dl.doubtnut.com/l/_wZ6fZV7a5jFU
https://dl.doubtnut.com/l/_Pvj7KmAwdF9d

11 3 3

C. — +
4x+1) 8x+1) 8(z+3)
11 3 3
D. — +
8z —1) 4z+1) 8(z+3)
Answer:

o Watch Video Solution

r+1 : : :
7.Resolve into partical fractions.
z(zx — 1)(z + 3)

A._1+ 1 B 1
3z 2z -1 6(z+3)
B, 1 n 1 B 1
3z ' 2(z—1) 6(z +3)
C. 1 — ! + =
3z 2(z—1)  6(z +3)
1 1 1
D. —

2% 3@—1)  6(z+3)

Answer:

| o WAF_L_ L w2l e~ ..


https://dl.doubtnut.com/l/_Pvj7KmAwdF9d
https://dl.doubtnut.com/l/_U5oIo545gtGs
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1
8. Resolve into partical fractions.
z?2 — (a + b)z + ab P

A 1 1 N 1
‘a+b|lz—a z-—b]
1 [ 1 1

B. —
a+b|lxz—a x—-0b]
c 1 [ 1 N 1
a—blr—a x—0b]
1 [ 1 1
D. —
a—blz—a x—-b

Answer:

o Watch Video Solution

9.Resolve into partical fractions.
5T + 6



https://dl.doubtnut.com/l/_U5oIo545gtGs
https://dl.doubtnut.com/l/_mVebBNNxH1iT
https://dl.doubtnut.com/l/_YAMqTRLO4nBV

Answer:

o Watch Video Solution

T+ 2

10. Resolve into partical fractions.
z? —2x — 15
7 1
A +
8(z —5)  8(z +3)
8 1
B. +
Wz —5)  7(z+3)
5) 1
C.

S(z—5) 8z +3)

D. None of these


https://dl.doubtnut.com/l/_YAMqTRLO4nBV
https://dl.doubtnut.com/l/_0RpkmP9rO8xW

Answer:

o Watch Video Solution

322 +2x +4 ) )
11. Resolve into partical fractions.

(z —1)(x? —4)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_0RpkmP9rO8xW
https://dl.doubtnut.com/l/_Lx5lJiu2t7R9

2¢ + 1 ) ) )
12. Resolve into partical fractions.
r? — 2r — 8

N 1
2z —4) 2z +2)
3 1
B. +
Az —4) 2z +2)
1 3
C. —

20z —4) 2z +2)

D. None of these

Answer:

o Watch Video Solution

222 + 3z + 18 ) .
13. Resolve into partical fractions.

(z — 2)(z + 2)°



https://dl.doubtnut.com/l/_cXFsw92yAqx0
https://dl.doubtnut.com/l/_ldoTBqcTIJjl

Answer:

o Watch Video Solution

2 —rz+1

14. Resolve ————— into partical fractions.
3 — 1
A 1 n 20 — 2
"3z —1)  3(2242+1)
8 1 20 — 2
"3z —1) 3(2242+1)
1 z + 2
C. +
2z —1) 2(z2+z+1)
1 x — 2
D. —

3(z—1) 3(z2+z+1)



https://dl.doubtnut.com/l/_ldoTBqcTIJjl
https://dl.doubtnut.com/l/_1y7C2IZiEsbG
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rz—1

15. Resolve into partical fractions.
z3 — 3z2 + 2z
A 1 1
' (z —2) 2z
1 1
B. —
20x —2) 2z
c 1 n 1 N 1
(w — 2) z—1 2x
5 1 1 N 1
(a: — 2) rz—1 2z
Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_1y7C2IZiEsbG
https://dl.doubtnut.com/l/_MxARt92TgIJz

—b
1. Resolve ? into partical fractions.
z? + (a + b)z + ab

A 2a B 2b
(a+b)(z+a) (a+b)(z+D)
B a+b L 2b
“(a—b)(z +a) (a—Db)(xz+b)
c a+b B 2b

(a—b)(x+a) (a—0b)(z+D)

D. None of these

Answer:

o Watch Video Solution

2. Resolve into partical fractions.
x- —4
3 1
A +
2(x — 2) 2(z + 2)
3 1
B. —

2z —2) 2z +2)


https://dl.doubtnut.com/l/_AZa4xVGaBwXd
https://dl.doubtnut.com/l/_aVS6u9D6nrhj

3,1
Az —2) 4z +2)
3 1

D. —
Az —2) 4z +2)

C.

Answer:

o Watch Video Solution

3. Resolve 5 into partical fractions.

(z+1)(z—1)

1 1 1
A + +

20z —1)?2 4Hz-1) 4(z+1)
—1 1 1

> 4z +1) - 4(x — 1) * 2($_1)2

-1 1 1
C.

o1 " Aw+D) 2z 1)

D. None of these

Answer:



https://dl.doubtnut.com/l/_aVS6u9D6nrhj
https://dl.doubtnut.com/l/_yn0he3VDyZf7

[ & Watch Video Solution

3z — 5
4. Resolve ? into partical fractions.
z? + 3z + 2
A 7 5
‘r+2 z+1
8 —8 11
z+2  (z+1)
11 8
C. —
T+ 2 z+1
b 7 n 5
‘r+2 z+1
Answer:

o Watch Video Solution

3x + 5 ) ) )
5. Resolve into partical fractions.
z? + 8z — 20

A%
"2z —2) | 24(z + 10)



https://dl.doubtnut.com/l/_yn0he3VDyZf7
https://dl.doubtnut.com/l/_0CLnlz0Dy7YX
https://dl.doubtnut.com/l/_PIWCvSyy7iCJ

11 25

B.

6(x — 2)

11 25

_|_
6(z + 10)

C.
12(z + 2)

11 25

D.

+
12(z — 10)

12(z — 2)

Answer:

_|_
12(z + 10)

o Watch Video Solution

azr + b ) ) )
6. Resolve ; 5 into partical fractions.
z? — (a+b)
A a’ + ab + b? a’ + ab — b?
"2(a+b)(z— (a+b) 2(a+bd(z+ (a+b))
B a® + b’ n a? — b
"2(a+b)(z— (a+b) 2(a+b)(z+ (a+Db))
; o — b2 . a2 & b2
"2(a+b)(zx—(a—0)) 2(a+b)(z+ (a+Db))
a’ + ab + b a’ + ab — b

D

"2(a+b)(z — (a+0b))

2(a +b)(z + (a + b))



https://dl.doubtnut.com/l/_PIWCvSyy7iCJ
https://dl.doubtnut.com/l/_floiSB5HwIbE

Answer:

o Watch Video Solution

7. Find the constants a,b,c and d, respectively, if

1 _a+ b . cx +d
x4 — x T z—1 2+ x+1

1 -1 -5
A—1 = —— =

’37 27 6

1 -1 5
B.—1, —, —, =

’37 276

1 1 5
C-1’§7§a€

D. None of these

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_floiSB5HwIbE
https://dl.doubtnut.com/l/_apaNOVushAhY
https://dl.doubtnut.com/l/_nWOQOFPqfDXP

x3 C

D

= Ax
TR + B+ ——+

A, B, C and D, respectively are

A1,31,8
B.1, —1,3,8
c.1,3, —1,8

D.—1, —3,1,8

Answer:

x—2

then

° Watch Video Solution

222 + 3

9.Resolve into partical fractions.

x4 4+ 8x2 + 15

3 5
A. +
2(z2 +3)  2(z%+5)



https://dl.doubtnut.com/l/_nWOQOFPqfDXP
https://dl.doubtnut.com/l/_zpzpTaTP4xV4

3 N 5
o(z2 — 3)  2(z? + 5)
-3
C. + ’
o(z2 +3)  2(z2 + 5)
7 3

D.
2(x2 +3)  2(z%+5)

Answer:

o Watch Video Solution

3z +1 | : :
10. Resolve ——, into partical fractions.

(z - 1)



https://dl.doubtnut.com/l/_zpzpTaTP4xV4
https://dl.doubtnut.com/l/_doCHytSky87K

Answer:

o Watch Video Solution

322 + 142 + 10 A B
1. If = — 4+ =+

then A4, B and
22(z + 2) z 22 zro oo "

C, respectively are _

>

w
| © oo N ©
o
&t
| w

o
o

N
l\5|w
I
ot

Ne)

S
ol
w

O
o

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_doCHytSky87K
https://dl.doubtnut.com/l/_w6SoLAi8fG6M
https://dl.doubtnut.com/l/_HpPetn4WalKT

2¢ — 1 A
12. If = +

@+ 1)@ —-1 =z-1

A, B ,C,respectively are

—1

A. y T 4
4

3
2

3
2

’

|

B.

’

@)
N N

-5 5
204

5
"4

po| ot

D.

’

Answer:

o Watch Video Solution

13. Resolve _

5 into partical fractions.
(z+1)

a+b
(z +1)*

A
"r+1



https://dl.doubtnut.com/l/_HpPetn4WalKT
https://dl.doubtnut.com/l/_gaLTGXrBa5ik

a a—2>b
z+1l (2 41)
a a+b

Answer:

o Watch Video Solution

422 + 3z + 2

14. Resolve into partical fractions.
(z — 4)°
A 25 n 99 N 78
Az —4) 2(z-4) (z-4)°
8 25 B 69 N 78
Az —4) 202-4° (z-4)°
c 35 69 n 78
Az —4) 2z -4)> (z-4)°
4 35 78
D + +


https://dl.doubtnut.com/l/_gaLTGXrBa5ik
https://dl.doubtnut.com/l/_eUTlHnlbLd78

Answer:

o Watch Video Solution

15. Resolve into partical fractions.
z? — Tz — 18

A 1 1 1
11 \z—9 z + 2

1(1 1
B. +

z—9 x + 2

)
)
( )

2

+ =

9 T

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eUTlHnlbLd78
https://dl.doubtnut.com/l/_mRQn5pQ8VMcN

10
16. Resolve PR into partical fractions.

2 —
A 1 B 1
"z—5 x+5
8 1 N 2

T —95 T+ 95
c 1 N 1
T+ 95 T — 9
5 1 B 2
"z—5 x+5
Answer:

o Watch Video Solution

2
17. Resolve ’ into partical fractions.
3(x —1)(z —3
1 1
A. —
z+3 3(z+1)
1 1

B. —
Tz —3 z+1



https://dl.doubtnut.com/l/_QQ7UEh3OSiEq
https://dl.doubtnut.com/l/_OP898eyt9caZ

Answer:

o Watch Video Solution

18. If = + ,then A — Bis

(z+2)(z+3) =z+3 =x+2

A 4

B.5

D. 2

Answer:



https://dl.doubtnut.com/l/_OP898eyt9caZ
https://dl.doubtnut.com/l/_vD0QGVMjfMev

o Watch Video Solution

19. Resolve into partical fractions.
(z +2)(z + 3)

1 1
A'S(a:+2 T x+3)

1 1
B‘S(a:+2 a x+3)

1 1
c.10(m+2 a :c+3)

D. 10 1 + !
| x + 2 x+3

Answer:

o Watch Video Solution

20. Resolve into partical fractions.
x2 — Te + 12


https://dl.doubtnut.com/l/_vD0QGVMjfMev
https://dl.doubtnut.com/l/_LJh4dLitDN4j
https://dl.doubtnut.com/l/_EZwcGE21R8SW

A'a:—4_ x—3

8 1 N 1
z—3 x—4

c 2 B 1
‘z—4 x-3

1 1
r+3 z44

Answer:

o Watch Video Solution

1. Resolve into partical fractions.
x4 — 3x2 — 4

1 1
A +
5(x2 —4)  5(z?2+1)

B 1 1
5(z2 —4)  5(z2+1)



https://dl.doubtnut.com/l/_EZwcGE21R8SW
https://dl.doubtnut.com/l/_NoXFlkKfWTJb

1 1

C. —
4(x2 +4) 4(x?2+1)
5 1 N 1
C4(x2 4+ 4) 422 +1)
Answer:

o Watch Video Solution

4
2.Resolve z+3 into partical fractions.
3 —Tr — 6
1 3 1
A + —
Az+1) 4(z—-3) (z+2)
B 5 1
4z +1) 4z —-3) (z+2)
1 3 1
C. — +
4z+1) 4(z-3) (z+2)
1 3 1
D. —
4z+1) 4(zx—-3) x+2
Answer:

| ° Wiakll . \Ntdaa CAliidktam
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1
3. If

B

(a? — bz)(b? — az)

value of A and B respectively would be _

b a

A. b3_a3’b3_a3

b a
B.

b _ a3 ad — a3

Answer:

b2 — bx

, then the

o Watch Video Solution

3z
4.Resolve ——— into partical fractions.

(z —1)*


https://dl.doubtnut.com/l/_hLZFJZhTyJA8
https://dl.doubtnut.com/l/_7agZ5QFbvZvO
https://dl.doubtnut.com/l/_2p1v3ZLWLJUo

§ (33_1)+(:I:—1)2_(x—1)3+(x—1)4
3 2 1
B 7 T 3 4
(z —1) (x — 1) (r — 1)
3 2
c ;3 T 4
(z — 1) (z — 1)
3 2
D. —

Answer:

o Watch Video Solution

2
x*+x+1 . : :
5. Resolve rirevl into partical fractions.

z3 + 1
A 1 n z+1
(z+1) 32—z +1)
5. —1 n 2z + 2
(z+1) 32—z +1)
C 1 n 2z + 2
(z+1) 32—z +1)

D. None of these


https://dl.doubtnut.com/l/_2p1v3ZLWLJUo
https://dl.doubtnut.com/l/_LpalDO3mn2ne

Answer:

o Watch Video Solution

222 + 8z + 13 | , :
6. Resolve ( )4 into partical fractions.
x+1
2 5 7
A ;T 3 4
(z + 1) (z+1) +1)
1 5 7
’ (:1:+1)2+(a:+1)3 +1)°
2 4 7
¢ 7 T 3 4
(z + 2) (z+1) +1)
4 5 7
D. +
(z+1)° (z+1)° + 1)
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LpalDO3mn2ne
https://dl.doubtnut.com/l/_ogV0rA6l0Bhu

6x2 — 14z + 6

7.Resolve into partical fractions.

z(z —1)(x — 2)

A.

- -

@
+
+

N

_|_
_|_

O
8|~ 8|~ 8|w 8|
8
|
—
&
|
N

_|_
_|_

Answer:

o Watch Video Solution

8.Resolve into partical fractions.

(z —4)(2* + 3)

17 1 _|_ac—|—4_
19_$—4 332—|—3_
17 1 z+ 3 ]
_|_
19_CB—4 ;1:2—|—3_



https://dl.doubtnut.com/l/_nJXqfyAodNtF
https://dl.doubtnut.com/l/_YcUGM4qn29Cr

17 1 +:c—|—3'
19_$—4 ;132_|_3_
17 1 r+4]
19_%-4 ;1;2_|_3_

Answer:

o Watch Video Solution

3z24+7 . . .
9.Resolve into partical fractions.
xt — 322 42
A 10 N 5 5
2 -2 -1 z+1
8 13 n 5 5
"z2-2 z+1 -1
c 5 N 10 10
z2 -2 -1 =z+1
5 5 13
D. — —
rz—1 x+1 2 — 2
Answer:

| o WAF_L_ L w2l e~ .. o
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10. If =
z2(x + 3)

2A+ 3B+ 4C =

+ , then

422 + 5x + 6 A B C
z | z?

_|_
z+ 3

A. 10
B. 20
C.30

D. 40

Answer:

° Watch Video Solution
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